
0710 WAS91 en WAS92
Technische Fiche

DU PONT BV  ı  Bouwelven 16  ı  B - 2280 Grobbendonk  ı  03 464 00 91  ı info@du-pont.be  ı  www.du-pont.be

C

A

M
in

.5
80

Min.555
X

SIGE S.P.A. 
60020 POLVERIGI (AN) ITALY
TEL +39 071 90 90 000 R.A. - FAX +39 071 90 90 804
WWW.SIGE-SPA.IT   INFO@SIGE-SPA.IT

PRODOTTO ED ASSEMBLATO IN ITALIA / MADE AND ASSEMBLED IN ITALY / FABRIQUÉ ET ASSEMBLÉ EN ITALIE / HECHO Y MONTADO EN ITALIA

SI
G

E 
n

o
n

 Sa
rà

 rE
Sp

o
n

Sa
bI

lE
 d

I E
vE

n
tu

al
I d

an
n

I o
c

c
o

rS
I p

Er
 u

tI
lI

zz
o

 d
El

 pr
o

d
o

tt
o

 d
If

fo
rm

E d
a q

u
El

lo
 pE

r I
l q

u
al

E è
 St

at
o

 c
o

n
c

Ep
It

o
. S

IG
E 

w
Il

l n
o

t b
E r

ES
po

n
SI

bl
E f

o
r a

n
y E

vE
n

tu
al

 d
am

aG
E d

u
E t

o
 a 

d
If

fE
rE

n
t u

SE
 fr

o
m

 th
E o

n
E I

t h
aS

 bE
En

 m
ad

E.
SI

G
E 

n
E S

Er
a p

aS
 rE

Sp
o

n
Sa

bl
E p

o
u

r t
o

u
S l

ES
 d

o
m

m
aG

ES
 à 

c
au

SE
 d

’u
n

 d
If

fé
rE

n
t u

tI
lI

za
tI

o
n

 d
u

 pr
o

d
u

It
 po

u
r l

Eq
u

El
 Il

 a 
ét

é f
ab

rI
q

u
é. 

SI
G

E 
n

o
 SE

ra
 rE

Sp
o

n
Sa

bl
E p

ar
a c

u
al

q
u

IE
r d

añ
o

 d
Eb

Id
o

 al
 u

So
 d

If
Er

En
tE

 d
E l

o
 po

r E
l c

u
al

 u
n

 pr
o

d
u

c
to

 h
a S

Id
o

 rE
al

Iz
ad

o
. CARATTERISTICHE • FEATURES • CARACTÉRISTIQUES • CARACTERÍSTICAS

Portabiancheria estraibile ad estrazione totale maggiorata con soft.
Laundry bin, extra extension slides with soft.
Panier à linge, avec coulisses à extraction totale avec amortisseur.
Cesto de ropa con guiás de extracción total y amortiguador.

MINUTERIA INTERNA • FITTINGS • FERRURE • FERRETERIA
N°12 3,9x13  Vite autofilettante TC a croce / Self tapping screw TC / Vis autotaraudeuse TC / Tornillo autorroscante TC 
N°8 4x16 Vite autofilettante TSP a croce / Self tapping screw TSP / Vis autotaraudeuse TSP / Tornillo autorroscante TSP 
N°4 M4x5 Vite cilindrica / Cylindrical screw / Vis cylindrique / Tornillo cilíndrico
N°2 M6x10 Vite / Screw / Vis / Tornillos 
N°2 Rondella / Washer / Rondelle / Arandela 

COMPONENTI • PARTS • COMPOSANTS • COMPONENTES
A. N°1 Box metallico / Metal box / Boîte en mètal / Caja de metal  
B. N°1 Kit guide Grass / Kit grass slides / Kit glissières grass / Kit de guías grasss  
C. N°1 Coppia carter guide / Kit slide cover / Kit carter pour glissières / Kit carter para las guíasa 
D. N°1 Secchio porta biancheria bianco 30 Lt / Laundry bin white Lt 30
Anier à linge blanc Lt 30 / Contenedor de lavandería blanco Lt 30
E. N°1 Secchio porta biancheria orione 30 Lt / Laundry bin orion grey Lt 30 
Panier à linge gris orion Lt 30 / Cesto de ropa gris orión Lt 30  
F. N°1 Coppia attacco antina / Kit door fixing brackets
Kit de pattes de fixation pour porte / Kit soportes de fijación de la puerta 
G. N°2 Cover attacco antina / Door fixing cover
Cache-vis pour pattes de fixation / Cover para los soportes de fijación  
H. N°4 Tappo / Stopper / Bouchon / Tapòn 

UTENSILERIA • TOOLS • OUTILS • INSTRUMENTOS

MANUTENZIONE • MAINTENANCE • ENTRETIEN • MANTENIMIENTO
Pulire con un panno morbido ed asciutto. Evitare l’uso di solventi e/o abrasivi.
Clean with a soft, dry cloth. Avoid using solvents or abrasive.
Nettoyez avec un chiffon sec et doux. N’utilisez pas aucun solvant ou produit abrasif.
Limpiar con paño suave y seco. Evitar el uso de solventes y/o abrasivos.

REV 00.2019
F0IST00112

ART 594
ART 595
GUIDE GRASS - GRASS SLIDES - COULISSES GRASS - GUIAS GRASS

E

B

D

H

FG

QUADRIFOGLIO

  X
L 450 410-418
L 500 460-468

ZEBRA LINNENMAND

ART 594
ART 595



0710 WAS91 en WAS92
Technische Fiche

DU PONT BV  ı  Bouwelven 16  ı  B - 2280 Grobbendonk  ı  03 464 00 91  ı info@du-pont.be  ı  www.du-pont.be

CLICK!

CLICK!

Fissare le guide B rispettando le quote. 
Fix the Sige slides B according to the dimentions. 

Fixez le kit glissières Sige B respectant les dimensions. 
Fixer el kit de guías Sige B respetando las medidas.

N°8 4x16 

N°4 M4x5 

1

2

3

Inserire la coppia carter guide C nelle guide B. 
Put the kit slide carter C into the Sige slides B. 
Insérer le kit carter pour la glissière C dans les glissières B. 
Üolocar el kit carter para las guías C sobre las guías Sige B. 

Avvitare il box metallico A nei carter guide C mediante le apposite viti. 
Screw the metal box A into the kit slide carter C by using the specific provided screws. 
Visser la boîte en mètal A dans le kit carter pour glissières C avec les spécifiques vis fournies. 
Atornillar la caja de metal A en el kit carter para las guías C con los tornillos provistos.

45
0

20

32

20

32

37 288

1

2

3



0710 WAS91 en WAS92
Technische Fiche

DU PONT BV  ı  Bouwelven 16  ı  B - 2280 Grobbendonk  ı  03 464 00 91  ı info@du-pont.be  ı  www.du-pont.be

Fissare la coppia attacco antina F nell’anta, rispettando le quote. 
Assemble the kit door fixing brackets F according to the dimentions.

Fixer le kit de pattes de fixation F sur la porte du meuble en respectant les dimensions.
Fijar el kit soportes de fijación de la puerta F en la puerta respetando las medidas.4

5 Pre-montare le viti M6x10 con le rondelle e montare l’antina sul carter C come 
mostrato. 
Pre-assemble the M6x10 screws and washers than mount the door on the carter 
C as shown. 

Pré-assembler les vis M6x10 et les rondelles, monter selon indications la porte 
sur le carter C. 
Montar previamente los tornillos M6x10 con las arandelas y montar la puerta 
sobre el carter C como se indica.

34
0

64
48

20 20

N°6 3,9x13 

N°2 M6x10 

4

5



0710 WAS91 en WAS92
Technische Fiche

DU PONT BV  ı  Bouwelven 16  ı  B - 2280 Grobbendonk  ı  03 464 00 91  ı info@du-pont.be  ı  www.du-pont.be

LA SIGE SPA SI RISERVA IL DIRITTO DI APPORTARE VARIAZIONI SENZA PREAVVISO - SIGE SPA HAS THE RIGHT TO MAKE CHANGES ON IT WITHOUT NOTICE
SIGE SPA A LE DROIT D’APPORTER DES VARIATIONS SANS PRÉAVIS - SIGE SPA SE RESERVA EL DERECHO DE REALIZAR CAMBIOS SIN PREVIO AVISO.

Regolare l’antina su e giu tramite l’eccentrico.
Adjust the door up and down by turning the eccentric screw.
Ajustez la porte de haut en bas en tournant la vis excentrique.
Ajuste la puerta hacia arriba y hacia abajo girando el tornillo excéntrico.

6

7

8 9

Regolare l’inclinazione avanti ed in dietro dell’anta, quindi serrare 
le due viti M6x10. 
Adjust the door inclination to the front or to the back, than tight 
the two M6x10 screws. 
Ajuster l’inclinaison de la porte à l’avant ou à l’arrière, puis serrer les 
deux vis M&x10.
Ajuste la inclinación de la puerta hacia delante o hacia atrás, apre-
tando los dos tornillos M6x10.

x2

ART.594

6

7

8 9


